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FHICERLE REME m RE g
MEoHERE ko FLWKX fEROX HFL WK
#BA%&s0H 2.95 2.66 45.3 34.0
' 50H 1. 49 1.65 28.9 25.6

80H T2 2. 56 41.8 34.0
1008 2.95 2.61. 43.9 35.3
-2  #ZUFEKOREEAFARX

y x| WBAEE30E DIHE 408 DR 50 B DR

AWEDOME | y= 2601+ 1. 129x _

50 ” y= 10. 396+ 0. 966x y= 6.903+ 0.904x

60 ” y= 9.927+ 1.172x | y= 6.069+ 1.082x | y= -2. 093+ 1,194x

([ y= 4,773+ 1.662x | y= 0.859+ 1.474x | y= -8, 480+ 1,568x

80 ” y= 0.490+ 2,249x | y= -5.485+ 2,022x | y=-17.927+ 2.138x

90 ” y= 2.650+ 2.625x | y= -5.537+ 2.407x | y=-21. 644+ 2, 588x
1100 ” y= 14.891+ 2.536x | y= 7.612+ 2.301x | y= -8. 086+ 2.484x
110 # | y= 30,466+ 2.206x | y= 24.859+ 1.974x | y= 10. 626+ 2. 156x
IR v y= 69,038+ 0.845x | y= 65.848+ 0.796x | y= 57. 070+ 0.969x

v BE y=157. 849+ 7.708x | y=120.210+ 7.591x | y= 9. 356+10. 135X

y X 60 H DR T0H DR 80 H DighE

TOHDHERE | y= -6.3064 1.331x

80 ” y=-14.989+ 1.815x | y= -5.624+ 1.344x

90 ” y=-19.100+ 2.226x | y= -8.472+ 1.671x | y= -1. 380+ 1.241x
100 ” y= -4.803+ 2.112x | y= 5723+ 1.574x | y= 12. 407+ 1.169x
110 ” y= 14. 224+ 1.811x | y= 23.000+ 1.357x | y= 29. 284+ 0. 996x
v 1= y= 60. 433+ 0.763x | y= 66.577+ 0.509x | y= 68. 637+ 0. 380x

v R y= 48.860+ 7.855x | y=117.467+ 5.104x | y=142. 092+ 3.727x

y X 90H DR 1008 DR 110H DR
100H DI | y= 13, 749+ 0. 941x
110 ” y= 30. 202+ 0.806x | y= 17.476+ 0.870x
vz 1= y= 69.515+ 0.299x | y= 63.387+ 0.343x | y= 54. 730+ 0, 418x

r BE y=148. 965+ 2.956x | y= 79.107+ 3.536x | y=-19. 539+ 4.424x




